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ENGINEERING & MANAGEMENT EXAMINATIONS, MAY – 2009

PRODUCTION MANAGEMENT
SEMESTERS - 2 & 4

Time : 3 Hours ] [ Full Marks : 70

GROUP – A

( Multiple Choice Type Questions )

1. Choose the correct alternatives for any ten of the following : 10 × 1 = 10

i) Production Management is valid for

a) manufacturing b) hospital

c) educational institution d) banks

e) hotel f) all of these

g) none of these.           

ii) Measure of efficiency of a productive system is also known as

a) utility b) efficacy

c) effectiveness d) productivity.           

iii) Batch production system is adopted when

a) ‘volume’ is very large and ‘variety’ is less

b) ‘volume’ is small and ‘variety’ is large

c) both the ‘volume’ and ‘variety’ are medium.           

iv) Man-Machine Chart is used in

a) job scheduling b) routing

c) plant layout designing d) none of these.           
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v) An effective quality control operation starts from

a) the inspection of input materials at the beginning of the production process

and continues as per the inspection schedule

b) inspection at the end of the production process

c) as and when the inspection is called for defective materials arising out of

production.           

vi) Production Planning and Control activities are carried out to

a) ensure timely delivery

b) utilise resources effectively and economically

c) both of these.           

vii) Which is not true in case of a good ‘product layout’ ?

a) The entire line gets immobilised if any one station is under break-down

b) Machine utilisation is usually very high

c) Is a very flexible system.           

viii) For an integrated Steel Plant, the plant location decision will be chiefly influenced

by the consideration of

a) proximity to the market

b) proximity to the raw material supply source

c) availability of electricity.           

ix) ‘Work Measurement’ is done for

a) determining the standard time

b) streamlining the method

c) ensuring high productivity.           
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x) Statistical Quality Control is done to

a) prevent any defective product from going out of the factory

b) observe the trend of product quality

c) intiate corrective action if quality trend shows an adverse pattern.

          

xi) ‘Critical Ratio Scheduling’ attempts to balance between approaches like

a) ‘Earliest Due Date’ and ‘Shortest Processing Time’

b) ‘Easliest Due Date’ and ‘First Come First Serve’

c) ‘Shortest Processing Time’ and ‘First Come First Serve’.           

xii) The premise of Just in Time ( JIT ) approach is

a) no interruption of flow in the supply chain

b) to have no buffer stock

c) not to procure material earlier than one hour.           

GROUP – B

( Short Answer Type Questions )

Answer any three of the following questions. 3 × 5 = 15

2. Indicate the steps in ‘Production Planning and Control’.

3. Differentiate between predictive and preventive maintenance practices.

4. Distinguish between product and process layout.

5. Describe the exponential smoothing method for demand forcasting.
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GROUP – C

( Long Answer Type Questions )

Answer any three of the following questions. 3 × 15 = 45

6. What do you understand by Acceptance Sampling ? Explain the significance of AQL

and LTPD in acceptance sampling with the help of OC curve. Explain producer’s and

consumer’s risk. 5 + 5 + 5

7. a) What are the criteria for a good plant layout ? What are the various costs

associated with the decision of a good plant layout ? 8

b) Differentiate between the Q-system and the P-system of Inventory Management.

The following information is given below for an inventory management system

allowing shortages :

Demand per annum : 600 units

Unit cost : Rs. 40/-

Shortage cost : Rs. 20/- per unit per annum

Carrying cost : Rs. 50/- per unit per annum

Procurement cost : Rs. 100/- per order.

Calculate the EOQ and maximum shortage level. 7

8. a) Discuss the objectives of a proper material handling system. What are the

criteria for selection of good material handling equipment ? 8

b) Explain the benefits and costs associated with Preventive Maintenance. What do

you understand by the term ‘Total Productive Maintenance’ ? 7

9. a) “Work study involves the role of the management, supervisors, workers and also

the work study men.” Elaborate. What are the pre-requisities of performing a

good study ? 8

b) What are the basic objectives of work measurement ? Why should we consider

allowances while calculating the standard time of completing a job ? 7

10. a) Explain when you will use the qualitative method of forecasting. 5

b) When will you use Statistical Methods of Quality Control ? What are its

advantages ? 5 + 5
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